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         6th June 2006

KENYA AERONAUTICAL COLLEGE

MATHEMATICS 

SECOND YEAR  - FIRST TERM (CAT)

ATTEMPT ALL QUESTIONS:

a) Solve for x in the equation

3 cos 2 x = 3 + 3 sin h 2x

b) Show that 

i) Sin h-1 x = In x + √ 1 + x2
ii) Tan h-1 = ½ In      1 + x

                 1 – x  




Hence find tan h-1 (0.95) correct to three decimal places. 
(20 marks)
2. Using Maclaurin’s series show that

a) Sin-1 x    =
 x    +
 x3  + 
3x5
+ . . . 

 6
40

b) Evaluate tan-1 0.1 correct to 4 decimal places. 


(20 marks)
3. Use binomial theorem to prove that if x is so small that its cube and higher powers can be neglected, then

a)   1 + x
= 
1    +
 x    + 
x2
 1 – x 



2

By taking x = 1/9, prove that √ 5 is approximately equal to 181/81

b) Evaluate  .      1     . using binomial theorem, correct to 5 decimal places

  3√ 26.8






(20 marks) 
